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1. Consider the following indexed sets:’

A; = {1} . .
Ay={2z:zeNz>1} = §${/é} /9 [2 av‘*?
Az3={3z:zeNz>1} = 5’5,5}/2 15' Fi

Ay={az:iceNo>1} = §3 12,16, 20, ,.,‘g

(a) In a few words, describe the set U A;.

ieN

[*‘“ This is 'an_ Se.,Jr of o o.ow\post'&’ V\Mw\lﬁi/\g MMQ 1}

(b} Suppose N is the universal set. In just a few words, describe the set U A;.
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2. In parts a-d below, a sentence or expression is given. For each, say whether it is a statement, an
open sentence, or neither. Also say whether it is true or false, neither true nor false, or whether that
depends on the circumstances.

‘Statement? True?
Sentence or expression . Open sentence? | False?
Neither? =~ | Neither?
Depends?
)| 0e2@)-20 utement | False
my | 2@ - 2w Neither | Neither
(c}) There exist integers a and b for which 3a + 5b = 1. : S‘l‘o\‘{{'im ent True
(d) There exist integers ¢ and b for which 3a + 6b= 1. Statewren t Fﬁls <
3. Complete the truth tables.
|PIQ|PVQ |P|QPAQ PIQP=Q|
T|7T T T\T| 7T |\T|T T
(@ |T|F|| =~ G)[TF] F }|T|F]| F
F|T(| 7T F\T =y F|T T
F|F F F|F F FIF| T
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1. Consider the following indexed sets:
A= {1} |
Ay ={2z:zeN,z>1}
A3 ={3z:zeN,z>1}
Ay={4z:zeN,z> 1}
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(a) In a few words describe the set U A;.
ieN

\__’T_ES ‘IS“!'"Aé set of aa___@m Comhus H[C __M_m._é%% Ma

(b) In just a few words, describe the set N — U A;.

casan JEN

E%c s The set of i ;zHWLL paavaloes J

2. In parts a~d below, a sentence or expressmn is given. For each, say whether it is a étatement an
open sentence, or neither. Also say whether it is true or false, neither true nor false, or whether that
depends on the circumstances.

Statement? True?
Sentence or expression Open sentence? | False?
‘ ' Neither? Neither?
Depends?
(8)| {=2,0,1} € #(z)- P(N) | Stabment [ True
by | XuX | Nether Neithe r
(c) 3a+bb=1. ‘ Open sem-k’n ce DQP{WAS
(d) There exist integers-a and b for which 3a + 5b = 1. Studewent | Trve
3. Complete the truth tables.
PlQ[PAQ (PIQ[Pva Ple[P=24
(a) | T F = (b) |T|F T () [T|F ~
F|T F F|T T F|T T
FLF F FIF| F F|F T




